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17

N
7
i1 i 2 i3 (! i 5 i 6 i 7 i8 i o9 10| T12| T12
}
) R2.9.29 7.2 7.2 7.4 7.4 75 75 7.4 75 75 7.6 75 7.4
R3.2.24 7.6 75 7.4 7.4 7.7 7.6 75 7.6 7.9 7.8 7.6 7.4
6.5 8.5 3 R3.9.30 7.7 75 7.3 7.3 75 75 7.3 7.6 7.7 7.6 7.3 7.3
R4.2.9 75 7.2 7.2 7.3 7.7 7.7 75 7.4 7.5 7.7 7.6 7.6
X R2.9.29 0.9 0.7 0.9 0.9 1.0 1.0 0.9 1.1 1.1 0.8 0.9 0.9
( R3.2.24 1.3 1.0 0.9 0.6 0.6 0.6 0.8 0.8 1.0 0.7 0.6 0.6
. ) 2 R3.9.30 1.4 1.7 1.1 1.8 1.2 2.0 1.4 1.6 2.5 1.4 1.3 1.4
R4.2.9 1.9 2.0 2.0 1.6 2.0 1.6 2.0 2.0 1.7 2.2 1.8 1.9
X R2.9.29 2 1 2 1 3 2 1 1| 1 4 2 2
R3.2.24 9 2 1 2 1 2 4 4 5 2 5
mg/ L 2 R3.9.30 2 3 3 3 5 4 2 2 2 9 4 5
R4.2.9 1 1| 1 1 2| 1 3 4 3| 1 1 1
) R2.9.29 350 920 | 1,600 | 1,600 | 3,500 | 3,500 | 1,600 | 5,400 | 1,600 920 | 1,600 | 1,600
MPN R3.2.24 7.8 | 1,600 350 220 350 920 540 | 2,400 920 220 150 | 1,600
1,000MPN 1 2 R3.9.30 220 920 920 170 220 350 70 540 920 170 350 350
R4.2.9 33.0 170 110 240 920 79 49 350 170 170 240 10
) R29.29| 970 | 980 | 9.90| 960| 850 | 9.20| 980 | 980 | 1060| 880 | 920 | 9.60
o R3.2.24| 11.30 | 11.30 | 11.60 | 1150 | 10.90 | 11.30 | 10.10 | 10.40 | 1090 | 9.80 | 9.60 | 9.00
7. 5mg/ )L 2 R3.9.30| 870 890 | 890| 850| 890 | 890| 830| 880 | 930 900| 840 | 8.00
R4.2.9 | 1080 | 890 | 11.20 | 1150 | 11.30 | 11.20 | 10.70 | 11.10 | 10.20 | 10.90 | 10.50 | 9.80
B7 p gwi ol — il ° 7 % #NH§® % too0q F2 % 08 % %ood pzei o' % T™MO
& — e e = % A - oA -0 e = % wmEzs— | me
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